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Guess Paper – 2008
Class – X

Subject - Mathematics

· Please check that this question paper contains 5 printed pages

· Code number given on the right hand side of the question paper should be written on the title page of the answer book by the candidates.

· Please check that this question paper contains 25 questions.

· Please write down the serial number of the question before attempting it.

MATHEMATICS

Time allowed: 3 hours]




         
         [Maximum Marks: 80

General Instructions:
1. All questions are compulsory.

2. The question paper consists of 25 questions divided into three sections A, B and C. Section A contains 7 questions of 2 marks each, Section B is of 12 questions of 3 marks each and Section C is of 6 questions of 5 marks each.

3. There is no overall choice. However, internal choice has been provided in two questions of two marks each, two questions of three marks each and two questions of five marks each. 

4. In question on construction, the drawing should be neat and exactly as per the given measurements.

5. Use of calculators is not permitted. However, you may ask for Mathematical tables.

SECTION A
1. Which is the smallest :







2
(i) Prime number?

(ii) Composite number?
2. Find the zeroes of the polynomial 
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3. For what value of c does the following system of equations represent parallel lines?
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If 
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4. If one root of the quadratic equation 
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 is 3, find the other root. Also find the value of p.
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5. Given that one root of the quadratic equation 
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 is three times the other, show that 
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6. Find k so that the equation (k + 1)x2 + 2kx + 4 = 0 has sum of the roots equal to the product of the roots.
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Or

Form a quadratic equation whose roots are 
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7. In the figure given below, AD is an altitude to ΔABC. Find (BAC
2
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SECTION B
8. Solve for x : 
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9. Show that :
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Or

Prove that : 
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3
10. The age of father is 3 years more than three times the ages of his son. Three years hence, age of father will be 10 years more than twice the age of the son. Find their present ages.
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11. Solve the following equations :
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3
12. Find a quadratic polynomial with sum of the roots as 
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13. The coefficient of x in the quadratic equation 
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 was taken as 17 in place of 13, then its roots were found to be 
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14. If 
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15. Prove that 
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 is an irrational number.
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16. Solve for u and v :
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17. Find the discriminant of the equation 
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. Check the nature of roots and find the roots, if possible.
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18. Show that any positive integer is of the form 6p+1, 6p+3 or 6p+5 where p is any integer is odd.








3
Or

State the Fundamental theorem of Arithmetic. Using this theorem, calculate the GCD and LCM of 424 and 246





3
19. Solve for x and y by cross – multiplication method :
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SECTION C
20. Two pipes running together can fill a cistern in 
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 minutes. If one pipe takes 3 minutes more than the other to fill the cistern, find the time in which each pipe would fill the cistern.
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21. On dividing 
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5
22. Solve graphically :
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Also find the coordinates of the points where the lines cut the axes.
5
23. A man sold a chair and a table for Rs.1520 making a profit of 25% on the chair and 10% on the table. By selling them for Rs.1535, he would have made a profit of 10% on the chair and 25% on the table. Find the cost price of the table and chair?
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Or

A person invested some amount at the rate of 10% simple interest and some other amount at 12% simple interest. He received a yearly interest of Rs.130. If he had interchanged the amount, he would have received Rs.4 more than as interest. How much did he invest at different rates?  


5
24. Solve for x :
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5
25. The angle of elevation of a jet plane from point A on the ground is 600. After a flight of 15 seconds, the angle of elevation at A changes to 300. If the jet plane is flying at a constant height of 
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m, find the speed of jet plane.
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